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(1) Eaitai(v) ETIHOERILLD v = 10 %
(2)BL-A58EE (m)
mi = 0. Sgoos{; = 29.1 N/uf m2= 3[2'.0_\, = 30.0 N/uf
1= 00 L 100
ST m = 30.0 N/wf
(3)AEALFHW/C) m = -18.8 + 27.8 X C/W
W/C = 27.8 — (30.0 + 18.8) X 100 == 56.5 % = [60% (L:FR{#)]
SW/C = 56.5 %
(4 ) BHr ks (W) ETEDEEICLY W = 159  ke/m
(5)EfrE A2 FE(C) C = W = (W/C) X 100 = 159 = 56.5 X 100 = 281 ke/m
Cv= C + %E = 281 + 3.04 = 92 £/
(6)ZERE(A) A = 4.5 % X 1000 = 45 2 /i
(TYEHEHE(G) HIHEOFEFECLY MhIFHE = 0.664 m/m EREE = 6.0 %
Gv = 0.664 X 1000 X 61.0 <+ 100 = 405 2 /i
G = Gv X FEEE == 405 X 2.73 = 1106 ke/md
Gl = G X 25.0% = 277 ke/m
G2 = G X 30.0 % = 332 kg/m
G3 = G X 45.0 % = 497 ke/md
(8) HArEME(S) Sv = 1000 — (WFCv+Gv-+A) = 1000 — 701 = 299 £2/mi
Siv = Sv X 60.0 % = 179 £¢/m S1= SIvXEEEE = 179 X 2.55 = 456 ke/ni
S2v = Sy X 40,0 % = 120 £ /rd S2= SoyXEEEE = 120 X 2.61 = 313  ke/m
(9)YHEHME(s/a) s/a = Sv +~ (Gv+Sv) X 100 = 42.5 %
(10) BAFEFFE (A Ad = C X HE X BE = 281 X 0.8900 % X 1.00 = 2.50 kg/m
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